Add Whole Tens to 2-digit Numbers

47 + 40 = 20 + 96 =
57 +30 = 00 + 48 =
35 +30= 69 + 20 =
35 +50 = 80 + 13 =
30 + 63 = 90 + 34 =
40 + 39 = 55+ 30 =
58 + 40 = 28 + 40 =
42 + 50 = 73+10=
26 + 60 = 36 + 60 =
70+ 17 = 81 +20 =
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Add Whole Tens to 2-digit Numbers

47 + 40 = 87
57 + 30 = 87
35 + 30 = 65
35 + 50 = 85
30 + 63 = 93
40 + 39 =79
58 + 40 = 98
42 + 50 = 92
26 + 60 = 86
70 + 17 = 87

20 +96 =116

50 + 48 =98

69 + 20 = 89

80+ 13 =93

90 + 34 =124

55 + 30 =85

28 + 40 = 68

/73 +10 =283

36 + 60 = 96

81 + 20 =101
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